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10.

INSTRUCTIONS FOR CANDIDATES

Answer all guestions,

All questions carry equal marks.

Only one answer is Lo be given for each question.

If more than one answers are marked, it would be treated as
WIDOE AnSwer,

Each question has four alternative responses marked serially
as 1, 2, 3, 4. You have to darken only one circle or bubble
indicating the correct answer on the Answer Sheet using
BLUE BALL POINT PEN.

The OMR Answer Sheet is inside this Test Booklet. When
you are directed to open the Test Booklet, take out the
Answer Sheet and fill in the particulars carefully with blue
ball point pen only.

173 part of the mark(s) of each guestion will be dedocted
for each wrong answer. A wrong answer means an
incorrect answer of more than one answers for any question,
Leaving all the relevant circles or bubbles of any question
blank will not be considered as wrong answer.

Mobile Phone or any other electronic gadget in the
cxamination hall is sircily prohibited. A candidate found
with any of such objectionable material with him/her will be
strictly dealt as per mules.

Please comectly [ill vour Roll Number in O.M.R. Sheet.
5 Marks can be deducted for filling wrong or incomplete
Roll Number.

If there is any sort of ambiguity/mistake cither of printing or
factual nature, then out of Hindi and English Version of the
question, the English Version will be weated as standard.

Warning : If a candidate is found copying or if any
unauthorized material is found in hisfher possession, FLR.
would be lodged against him/her in the Police Station and he/she
would liable o be prosecuted. Department may also debar
himvher permanently from all future examinations.
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Do not open this Test Booklet until you are asked to do so.
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1.  WhicliZof the following is not include in 1.

“Panégg(ura Vegetable™?

(1) = Kair

(2) Sangn
(3) Khinpoli
(4) Kumat

2. Match List-l with List-II and select the 2.

Part-1/5mr -1

correct answer using the code given below -

List-1
Ekadashi
Vrat/Fast
Kamada (i)
Nirjala (ii)
Jal Jhulani (iii)
(iv)

(A)
(B)
(C)
(D)
Code -

(A) (B)
31 iii
@ i iii
3 i i
@ v i

Devuthani

3. Which of the following crop evidence has 3.

Month
Chaitra
Bhadrapada
Jyestha
Kartik
(C) (D)
v 11
i iv
] v
ii iii

not been found from Prehistoric Rajasthan?

(1) Barley
(2) Rice

(3) Sorghum millet (jwar)

(4) Maize

4.  Which of the following place was famous 4.

for the cultivation of Indigo in Medieval

Rajasthan?
(1) Nagaur
(2) Sambhar
(3) Bayana
(4) Sanganer

| G.K. (History) (1 to 15) / 51 o1 (sfema) (1 9 15 o)

=1 9 9 v Wl W wmfier 8 & -
(1) &=

(2) i

(3) Raurch

4 T

Lo

AL B - § g A den e
few ¢ @re =1 W B¢ wé v g —

Rl K i
LCaEil AE
EGVACLCIL|
(A) T (i) 4=
(B) fstar (i) wTE9=
(C) W& el (i) e
(D) ZgFer (iv) wfets
e —
(A) (B) (C) (D)
(1) i iii iv ii
(2) i iii i iv
(3) i iii i iv
4 v i ii iii
= % @ el vua & wEn iR
T W el e &7
(1) it
(2) =mEd
(3) w|\r
(4) w1
HEHIei Ao § Al # @l & oo
=1 % 9 @ e uftig o
(1) AR
(2) ¥R
(3) =
(4) HER
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3. Which among the following is related to 5. = & & froer g “amad) =08~ @
“Tamravati Nagri™? 2?
(1) Kalibanga (1) FreiEm
(2) Ahar (2) WS
(3) Bairath 3) e
(4) Bagore (4) IR
6.  Dulmera in the Princely State of Bikaner 6. #@rR Rurw ¥ gerwr f wfwr @ fag
was famous for which mineral? uftg a7
(1) Stone 1) Ter
(2) Mica (2) amEE
(3) Coal @) rrer
(4) Copper @) i
7. “Gokhru” is mainly used in the treatment of 7. "Naw’ B gEE: e 4 9 5w for @
which of the following disorder? gara H IuarT fear omar 87
(1) Cough (1) %
{2) Joint pain (2) el o1 8¢
(3) Eye disorder (3) 3 fawr
(4) Urinary disorder @) T fwR
8. Which of the following is “Calligonum 8. = # 9 "Sferi=a dedmmmefear &2
Polygonoides™? (1) S
(1) Khejadi @ o
(2) Fog (3) wfger
(3) Rohida @ AT
(4) Chamkas
9. The Fair held in Birantiya Khurd of Pali 9. el forel & fdifear g 4w arem s
District is related to - HEA B —
(1) Bhuriya Baba (1) Hiar amEr
(2) Dariyav Ji (2) =famE &
(3) Ramdev Ji (3) wmEg S
(4) Kheteshwar Maharaj 4) TRITER qER
10. Which of the following is related to 10. = § J§ "GRror @1 w== fHag 27
“Taran™? (1) 54
(1) Birth (2) e
(2) Education 3) faE
(3) Marriage @) T
(4) Death
[08]- Z Page 3 of 32



1. Which of the following is not a men’s wear?  11.

(1)
(2)
(3)
(4)

12. In which year the Jaipur state declared 12.

Lappa
Jama
Chuga
Angrakhi

female infanticide practice (Kanyavadh)
illegal?

(1)
(2)
(3)
(4)

13.  Who was the founder of “Azad Morcha”? 13.

(1)
(2)
(3)
(4)

1840
1842
1844
1846

Jamana Lal Bajaj
Heera Lal Shastri
Manikya Lal Verma

Baba Harishchandra

14.  Which of the following pair is not correctly  14.

matched?
Peasant Princely
Movement State
(1) Neemuchana Alwar
(2) Dabra Jodhpur
(3) Dudhwa Khara Bikaner
(4) Barad Udaipur

15. The greater Rajasthan was inaugurated on 15,

30™ March 1949 by-

(1)
(2)
(3)
(4)

Sardar Vallabhbhai Patel
Pt. Jawahar Lal Nehru
N.V. Gadgil

Ram Manohar Lohia

=1 % & S goul &1 oy T8 &2

(1) =wr
(2) <

(3) Im
(4

R e - - G B T B
S ifte w fRar?

(1) 1840
(2) 1842
(3) 1844
(4) 1846

"HAIATE AEl BT WIS $ o7

(1) ST SIS

&7

(2) Errend e

(3) =errEre gt

(4) amEr sRwes

=1 4 & FFar gm ad it a9
o arslem 2 Raraw

(1) gamon TR

(2) =@ SRTYR

(3) gEa-w\RI CICaREd

4) s=vs EERE

JET VORI | FT I 30 A 1949
1 fwe grr far man ar?

(1) TEN deei¥ 912 U
(2) Y. SEEYCe TEw
(3) & wrefia

(4) W "R ifEa
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Part - IT /501 — 11
G.K. (Geography of Rajasthan) (16 to 30) / HMFI S (TSR &7 71 ) (16 & 30 TF)

16.  Match the following and select the correct 16, Fr=fafaa =1 wiftm #ifoe o= 4@ o

answer from the code given below - T FHe ¥ H |8 ST F AT PIY —
g e T w2 /v
(A) North (i) Tadgarh/Todgarh
Aravalli G B ST
(B) Middle (i) Satur e
Aravalli (B) 4 sRmEel (i) R
(C) South (iii) Dilwara (C) Ty (i) fRearer
Aravalli i
(D) Hadoti (iv) Raghunathgarh
Region (D) ®ERN ¥R (iv) EERATS
Code - oe -~
(A) (B) (C) (D) (A) (B) (C) (D)
(1) i iv iii i (1) i v ii ii
(2) i i iii iv (2) il i iii iv
3) v i iii i (3) v i i i
(4) iv i iii i (4) iv ii iii i
17.  Which of the following is the correct west- 17. f=ifafiag # & Sar o & veRt o1
to-east sequence of plateaus of Rajasthan? gE-—qd e By &7
(1) Hadoti Pl., Uparmal Pl., Lasadiya (1) =&kt 9BR, SUNEIE YoR, awredr
Pl. and Bhorat PL. 98IR U9 HNIE TSR
(2) Hadoti Pl., Lasadiya Pl., Uparmal (2) sERN SR, wwfegr SR, S
Pl. and Bhorat PI. i YO U9 HRIE TSR ’
(3) Bhorat Pl, Uparmal Pl., Lasadiya (3) ¥WRIC 9SR, SUHE YR, oEisdr
Pl. and Hadoti PI. TSR Td el 9BR
(4) Bhorat Pl, Lasadiya Pl., Uparmal (4) ¥NTE YeR, SWfedl UK, SHUTIE
PL. and Hadoti PI. USR Td Bl TSR

[08]- & Page 5 of 32



18.  Which of the following plain is drained by
the river Mahi and its tributaries?
(1) Chappan plains
(2) Naliregion
(3) Riverine plains of South-East
Rajasthan

(4) Banas plains

19.  Barkhan sand dunes are primarily found in
which areas of Rajasthan?

(1)  West of 20 em Isohyet areas
(2) Between 20-35 cm Isohyet areas
(3) Between 35-50 cm Isohyet areas

(4) East of 50 cm Ischyet areas

20.  Which among the following rivers are not a

part of Arabian river system? Select the

18. Pr=fafaa 4 ¥ o f=m a8 o

U] WeTgH Afedl g amaned Her 27

(1) o599 & Jem

(2) FTell wew

(3) R T s 9D BfR
CEa|

@) T HeE

19. V@A q] &1 ®O UOET ORI B

BT &5 § 9 o 87

(1) 20 9. wael Y@ & o=l &=
3

(2) 20 & 35 ¥R gyael Y& $ T
gt #

(3) 35 9 50 ¥h wHEel vEr & ey
&3t #

(4) 50 @ west v & udf et
20. Fy=fafaa § 9 ol afRdl ave s
a1 @ @1 A e €7 M R W we

correct answer from the code given below - H Hel SR B g P —
(A) Banas River (A) &9 ey
(B) Sabarmati River (B) HISIHAT FTEl
(C) Western Banas River © uReE T T
(D} Kankani River (D) HiFHor T
(E) Mahi River E

Code - He —
() A CandD 1) ACTD
2 B.DasdiD 2) ABTED
(3) B, CandE (3) B.CU3E
@) AandD W S
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21.  Maich the following and select the correct 21, F=ifofaa @1 gafem iR oo w23
answer from the code given below - T He A | e IR B GG P —
List-I List-II -1 =11
Lake District e frem
{A) Navlakha (i) Dholpur _;I'clﬁ?.?ﬂ . P
Sagar G W Eﬁw
(B) Chappar Tal (ii) Bundi Sl N .
(C) Talab Shahi (i) Chittorgarh B) BRI
(D) Bhopal (iv) Churu (© vremE e (i) FrditsTe
Sagar (D) 9OIE PR (iv) g%
Code - 7 -
(A) (B) (C) (D) (A) (B) (C) (D)
1) i iv i iii (1) i v i 1ii
(2) i iv iii i (2) ii iv ii i
3) iv ii i iii (3) iv ii i iii
4) i ii iii iv (4) i ii iii iv
22. The soil type which is primarily found in 22, ¥& &1 bR @ & woRaE #§ wHEaan
the districts of Jhalawar, Baran and Kota in STETS, 9N U9 Hrer foret #§ urar wmEr 87
Rajasthan is-
(1) Brown sandy soil (1) ‘Iﬁ SSIE]] bEL
(2) Black Regur soil (2) el IR Fa
(3) Red soil (3) @ Har
(4) Saline sandy soil @) =i el ga
23. Maich the following and select the correct 23. fr=fafam =1 wafem 9l o= 9w =Y
answer from the code given below - T HE H W W 9w #m g DI —
List-1 List-I1 o 11
B! C*ﬂ}:ﬂe (Area) :\j;(]ﬁt:_;lw ?;;Tj*
reed) T ) S
(A) Tharparkar (i) Barmer, Pali (A) 9RURFR () AR, Tl
and Jalore LERTI I
(B) Kankrej (ii)  Jhalawar, (B) ipval (i) HTAEES, Wer
Udaipur . X5 P
(C) Malvi (i) Ajmer, (©) e (iif)  SrOPR ,
Bhilwara and et 52
Pali EIE
(D) Gir (iv) Barmer, (D) fim (iv) TSR, TEYR
e Jodhpur and v SR
Jaisalmer
Code - e
(A) (B) (C) (D) (A) (B) (C) (D)
(v i iii i M v i iii ii
(2) i iv ii iii (2) i iv ii i
3 v i ii il 3 v i ii iii
(4) ii iv i i () i v g s
[08]- 2 Page 7 of 32



24. Which districts of Rajasthan recorded 24.

highest and lowest decadal population
growth rate during 2001-20117

(1) Jodhpur - Pali

(2) Banswara - Bundi

(3) Barmer - Ganganagar

(4)  Jaipur - Chittorgarh

25.  In which districts of Rajasthan, the highest 25.

number of Scheduled Caste and Scheduled
Tribe population are found?
(As per census - 2011)

(I) Ganganagar and Banswara

(2) Banswara and Ganganagar

(3) Nagaur and Banswara

(4) Jaipur and Udaipur

26. Match List-I with List-II and select the 26.

correct answer by using the code given
below the lists -

List-1 List-I1

(A) Khamnor {1} River Berach
Hills

(B) Gogunda (2} River Jakham
Hills

(C) Bairath Hills  (3) River Banas
(D) Chhoti Sadri  (4) River

Banganga
Code -
(A) (B) (€) (D)
(1) 3 1 4 2
(2) 2 3 ] 4
(3) 4 2 3 1
4 1 4 2 3

27. ‘Walra’ farming is practiced in Rajasthan 27,

in-
(1) Sawai Madhopur, Karoli
(2) Dungarpur, Banswara, Udaipur
(3) Jalore, Barmer, Jodhpur
(4) Kota, Thalawar, Baran

AORAF B BEAW e § Swaw v
Frees  sm= owaem gfy = W
2001-2011 & =m0 3ifdg @1 1E?

(1) SiegR — grel

(2) aigarer — g

(3) SR — TR

@) IR - fieTe

SR & B e 4 walfe e
W TE SR ot s o
STl 87 (SFRIOFT — 2011 @ SFER)

(1) TR Td gigarer

(2) 9HATST U4 TR

(3) ArR ug FiEarer

(4) SR @ IEAg

-1 v -1 1 gt w57 91
faw T He o wEEa @ WS TR
A —

-1 =11
(A) THAR (1) =9 99
wEifEat
(B) =T (2) WrEH A9
gETfedr

(C) <= (3) ¥ T
gEISar
(D) ©E AEdl  (4)  FOFET Td
E_
(A) (B) (C) ()

n 3 I 4 2

2 2 3 1 4

3 4 2 3 1

CY . 4 2 3 -
T H g &Y ugfy e S/
b

& _
(1) WaTE AR, SRie

(2) LR, THATE, ISTGR
(3) ER, TR, TR

(4) P, gigarer, TR

[08]- 3 Page 8 of 32



28. Match the following List-1 & List-Il and 28, Fifisa -1 vd wai-11 &1 fer @
select the correct answer by using the code BU ®E DI VBT ¥ TE 99N Siferd —
given below -

List-I List-II R L | 11

(A) Cows (1) Lohi, Barbari, (A) g (1) i, aRE
Jamunapari AT

(B) Buffalo (2) Rathi, Gir, (B) 9 (2) e, R,
Tharparkar ARG

(C) Sheep (3) Murrah, Surti, () i]._g (3) _ﬂ?,r— Wr
Mehsana HeH T

(D) Goat (4) Nali, Pugal,
Magra (D) FHY (4) ﬁ PUEH

Code - Sy

o g e @w ® © o

RTINS =

A ? ? : 3 2 3 4 1

o ' ¢ ; @ 4 : 3 3

29. Maich the following List-I and List-Il and 29. Voo & wiraem @ w9 § =it
select the correct answer by using the code -1 vd g1 B gHfee o g0 @i
given below (Rajasthan census - 2011) in P wEemal W wEl  wwe g
terms of population of Rajasthan - (RISTRTT STATOrAT — 2011) —

List-1 List-11 i Gl il 1
(A) Decadal (1) 200 (A) =gz (D) 200

Growili (B) feir arquma (2) 66.11%
(B) Sex ratio (per (2) 66.11% (ufer 1000

1000 males) %)
(C) Literacy {3) 928 (C) mT (3) 928
(D) Density/km® (4) 21.31% (D) sTa/fEA2 @) 21.31%
Code - e —

(A) (B) (€) (D) (A) (B) (C) (D)

(1) 4 3 2 1 (1) 4 3 9 1
(2) 3 2 1 4 (2) 3 2 1 4
3 1 4 3 2 3) 1 4 3 2
@ 2 1 4 3 (4) 2, 1 4 3

30. According to 2011 census, districts having 30. RIH WETUET 2011 @ HIER, FedH
highest and lowest density of population wq Frerem seEE gee 9 e £ -
are -

(1) Bharatpur and Barmer (1) R @ aeR

(2) Dausa and Bikaner (2) = vE e

(3) Jaipur and Jaisalmer (3) TR Td SR

(4) Jaipur and Churu (4) VO @ gE
[og]- £ Page 9 of 32



Part - IIT /577 — 111
Shalya Tantra (31 te 150)/ 19 @ (31 ¥ 150 &)

3. 9T WP AT 9 SR | 31. Al UHREEE @ F wE |
wWH P " WhE gevg  agdia W %4 9 Iy g9 qEdiaw e
According to Acharya Dalhana, what type SEEY & FTUR T fhd yBR &1 =@ e?
of “Sutra’ is this?

(1) Pratisanskrita sutra (1) vl ¥
(2) Akeeya sutra (2) T.'Hﬂ'!] g4
(3) Shishya sutra (3) Qﬁ

(4)  Guru sutra (4

32. Which of the following is not included 32. gs@ H%m A e uF H
while describing about ‘Shalya Tantra’ in e a9 @ fwg #§ gqofe 'cmﬁ g = o
‘Sushruta Sambhita’ chapter one of ‘Sutra ¥ forwer wamw 98 frar oy &2
Sthana?’

(1) Yantra (2) Shastra () w4 2) =
(3) Kshara (4) Jalouka (3) @R (4) ST

33. Which of the following instrument (yantra) 33. =1 % § @9 — @1 79 ¥R & T9e
is considered capable of removing foreign L O — 9, g enfe § Reua wew
body (Shalya) from any part of body like — TTEvv 2q W™ A Ty 27
*Sandhi, Dhamani?’

(1) Singhamukha (1) THeg
(2) Kankamukha (2) HoYE
(3) Hasta (3) ww=

(4) Brihimukha ) Hfga

4. W = gEwsTer  worurei @Al 340 W o9 gRwieTel ger gt
According to Acharya Dalhana this SeEY T o WR I8 Hed e § 9 e
reference belongs to which of the T 27
following?

(1) Kartari (H
(2) Antarmukha (2) s=HE
(3) Brihimukha (3) j’t‘[%‘ﬂ'{g’
(4) Aishani (4) ugeiy

35. ‘oA s e ges’ This 35,0 oiftawe wew T
reference quoted by Sushruta, belongs to Gydiaa g8 ded =1 4 @ foww H@eftm
which of the following? 27
(1) Mamsa chedana (1) #19 Bgq
(2) Asthi chedana (2) ey Be
(3) Snayu chedana (3 m@g:r
(4) Udara medovarti chedana (4) T deEd Beq

36. Which sterilization method in suitable to  36. form &1 fvsfa &= & o @59 @
disinfect the linen? Frftarogeyor fafr sugar 22
(1) Autoclaving (1) aifemeET
(2) Cidex (2) weTd
(3) Radiation (3) fafdsm
(4) Boiling (4) waTEr

[08]- & Page 10 of 32



37.  “Triad of General anesthesia’ are - 37. TS 3% e Al B9 E -

(1) Amnesia, Analgesia, Muscle (1) =i TATeTOgT, qHe
Contraction BT

(2) Amnesia,  Analgesia,  Muscle (2) u=fErar TATT A, THd
relaxation Rerae

(3) Neoralgia, Neuropraxia, Muscle H{Qﬁ-\-ﬂ qﬁﬁﬁmm
relaxation ) ﬁﬁﬁ; ’ F

(4) Analgesia, Neuralgia, Neuropraxia

(4) IR, gifeara, R

38. Which of the following is ‘muscle 38. A= 4§ 4 &9 — @1 & Rerer=

relaxant’? {4
(1) Atracurium (1) Eﬁﬂlﬁu‘?
(2) Lignocaine (2) ferraa
(3) Bupivacaine (3) =gfare
(4) Morphine @) weEH

39.  According to Acharya Dalhana, which of 39. omar T@®w & SR w4E 4 F Ry
the following is not considered in & JET Ty 27
*Pashchata Karma’?

(1) Bala (1) =

(2) Varna (2) adt

(3) Agnikarma (3) afram
(4) Langhana (4) @

40. ATFUT Y W o P According 40, WO A AT o BH R
to Dalhana commentary which will be EHl $ FUR IR Rew wE $ ol
correct choice for the above blank space? Hal e B9 ar 82

(1) Yantra (1 ==
(2) Shastra (2) =4
(3) Pradhanam 3) W
(4) Raksham (4) T
41. According to Acharya Dalhana, 41. 94 8w & ATER, I T TRA B
‘Alpamukha’ shastra use is described in - varT feeti fefig 22
(1) Chedana
(2) Bhedana (1) v
(3) Lekhana (2) %=
(4) Vedhana (3) o
4) TEH
42.  Which of the options is correct match of 42, &™ ‘& &1 W™ 9 ¥ 98 Fe $19 @1
column ‘A’ with column ‘B*? fareeg 27
EA? i-E'!‘ 'ﬂ-‘ la.d
(A) Bhagandara (i) Lekhana (A) =% (i) <Eq
(B) Vidradhi (ii)  Vedhana (B) fag® (i) o
(D) Mutra vriddhi (iv) Chedana (D) = Elﬁ‘? (iv) ©eT
(1) A-(i), B-(ii), C ), Dav) (1) A-— (i), B - (iii), C (i), D (iv)
(2) A-—(ui), B-(), C(iv), D i) (2) A-—(iii), B - (i), C (iv), D (ii)
(3  A-(iv), B-(ii), C (i), D (ii) (3) A—(iv), B - (iii), C (i), D (ii)
4) A-(i),B-={(iv), C (), D (iii) (4) A—().B—(iv), C (ii), D (iii)
[08]- & Page 11 of 32



45.

46.

‘Aaharana Karma’ is not indicated in which
disease?

(1) Sharkara

(2) Ashmari

(3) Mudhagarbha

(4) Vidradhi

T A9 AR RO genfie |
According to Sushruta Samhita, this
reference is related to which “Shastra
Karma?’

(1) Bandhana

{2) Lekhana

{(3) Sivana

(4) Aancchana

According to Acharya Sushruta, which one
in advocated for ‘Samyaka Karmabhyasa?’

(1) Yogya

(2) Svadhyaya

(3) Shastra

(4) Sambhasha

Which option is correct match for column
*A" with column ‘B'?
A R

(A) Chedana (i) Udaka panka
poorna  driti,
basti
Pushpaphala
Pustamaya
purusha

‘Sira of dead

animal’

(B) Bhedana (ii)
(C) Vedhana (ii1)

(D) Bandhana (iv)

ulpala naala

(1) A- (i), B- (i), C - (iv), D - (iii)
(2)  A- (i) B - (i), C-(iv). D - (iii)
(3) A -(iii), B - (iv), C - (i), D - (i)
@ A -(iv), B - i), C - (ii), D - (i)

43.

frm anfr & omsvwr W Aiffe o
27

(1) T

(2) awd

(3) W

) fa=f@

T A W R genfere |

T WO B WA GAT Wl @ R
fr /3 w7 § &

(1) ==

(2) @@

(3) Ea

(4) JAPwA

el gHa ENT wEe wubar § ol
Frer & | fvasr s fsar mar 22

(1) =

(2) wErEEy

3) =

(4) FmmEr

W W E W T O 9E e e |
fawea 27

o @

(&) v=1 () 3 9B
5f, af

(B) #&T (i) Y=Hd

(© T (i) gEET gey

(D) @\ (v) FAwYg @
i, 9ow
BlE]

(1) A-(@), B-(ii), C- (iv), D - (ii1)
(2) A-(i),B-(1), C-(iv), D - (i)
(3) A-(ii), B-(iv). C-(1), D- (i)
(4) A-(iv), B - (iii), C - (ii), D - (i)

[08]- &
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47.  Which option is correct match for column 47. w1 '3 & W ¥ A 98 HaE #9991
‘A’ with column ‘B’? e 27
Column-*A° Column-‘B’ w3 WR—g
(A) Sakthi Marma (1) Kukundara )
(B) Udara — ura (ii) Lohitaksha (A)  wfder 7 0 FE
marma = EI'T%W
(C) Prishtha (iii) Krikatika D). ‘Srv-em .
marma (C) U= #% (iii) FewICH
(D) -:::’l_lllnuurdhdw (iv) Apalapa (D) vy T (v) e
(B A- )8 -G, Co), D- 1) (1) A-(@).B- Gii), C - (i), D - (iv)
@} A-(@), B -(),C-Gv), D- (i) (2) A-(Gii), B- (i), C - (iv), D - (ii)
() A=), B (u), €7 01D - (i) @) A-(Gv), B- (i), C - Giii), D - ()
4) A-(i),B-(iv), C- (i), D- (i) ) A-(Gi), B - (iv), C- (i), D - (iii)
48. Which of the marma is not among the 48. = # ¥ &= @1 wi wer woer 59 &
Sadyopranahara Marma? el 27
(1) Hridya (1) &3
(2) Nabhi (2) =iy
(3) Utkshep 3) T
49.  According to Sushruta Samhita, ‘Kshara is  49. §4a df2ar & sOR, T FIEl § &R
pradhanatama in shastra — anushastra’ in W 2 — §9 WYA @ Hed # B9 W
context to this statement which option is fareg 98 27
correct? (1) o=+, vgu, 9w G sgarer &
(1) Due to chedana, aishana, vishesha FT
kriya avacharana (2) U5, WET, oEd, Bewe BN @
(2) Due to chedana, bhedana, lekhana, 10T
tridoshaghna Fr Lty
(3) Ea'}l:i 1) slha]}ffl nirharana, anushastra, G :I\EI N fh‘RﬂT e, e
darimarjana
4) Due t]:}chezgna, visravana, lekhana @) v, fRumE, 9w 89 $ sre
50. ‘Paneeya Kshara® is ‘Ahitakara’ (not 50. ‘UFIg &R & w40 5w @y § wfRaww
suitable) in which disease? BT 27
(1) Gara visha (1) = faw
(2) Gulma (2) TH
(3) Raktapitta (3) <l
(4) Sharkara @) wrET
5I. According to Acharya Dalhana, colour of 51. Ygdiled &R el FEfm aRoyes
the flowers of ‘asitamushkaka’ advocated & gui @1 997 aTa S®Y B FTAR B
by Sushruta is- ar8?
(1) Shweta (1) RO
[2} Krishna {2} g;m-lr
(3) Pandu (3) g
{(4) Goura @ iR
[08]- 2 Page 13 of 32



This teference af Sushruta is related to - Hear a8 wWeof fraw wefte 22
(1) Kshara (1) &R
(2) Jalouka (2) et
(3)  Agni (3) afq
(4) Yogya (4) Trm
53.  'Dahana upakarana® for agnikarma which 53. @1 ¥ sfied B @ R geae T
are advice to be used on skin by Sushruta JUHIT B W Bl B
are - (1) fweh, ga, IR e
(1) Pippali, danta, shara shalaka (2) “Ir=dIve, O — ol afe dite
(2) Jambavoshtha, tamra - rajata louha (3) i, T, =
(3) Kshoudra. gud, sneha () @ T At Bfe @
(4) Agnikarma is contraindicated in
skin
54.  In which of the following, ‘picchilaanna’ is 54, afqad & wad =1 § & foaid o) =
not given to patient before agnikarma? Taftes 3T @1 daa 78 = B Sy
2
(1) Mudhagarbha %{1] w
(3) If there is ‘kathina supta mamsa’ in (3) ‘mor ¥ s @ 7 T W
“vrana’ (@) e
(4)  Shleepada
55.  According to Acharya Sushruta, which one 55, areml g & AR, T4, ey, S,
is indicated for ‘shonita avasechana’ in iR, e, FJEL gpIrR. #  =ifow
‘nripa, aadhya, balaka, sthavir, bheeru, YT ﬁ-g fraar Ay fear 7o #2
naree, sukumara’?
(1) Prachchana (1) u=o
(2) Shringa (2) Hm
(3) Alabu (3) oy
(4) Jalouka . (4) FTerET
56.  Which of the following option is correct 56. 3T WP & FAR §7 & wad F F
according to Acharya Bhaluki in context to —7 ey w& 87
shringa? (1) <&@ — 12 el qo — IFMHST
(1) Length — 12 angula; Base — hole ® wEY B g\ — Wy 8
like ring finger; Tip — hole like e foe
masha (2) -(—,ﬁn—&i — 7 GI-T,I; el — _3411@' 11[\;:',]'
(2) Length — 7 angula; Base - hole like ® TR g e — ERl &
thumb base; Tip — hole like mudga e P
3) Length — 5 angula; Base - hole like : .
Y midﬁle ﬁngn:rg'u Tip — hole like (3). w5 b
' W fUg e - wem B
kalaya foz
(4) Length — 18 angula; Base — hole w : :
like great toe; Tip — hole like thumb @ g - 18 Il A — E”E b
i & R B s — e g
T T fog
[08]- Z Page 14 of 32



57.  Which is correct match for column ‘A’ and  57. J3d WRa1 & IER Ry Fw Wy
column ‘B’ in terms of ‘vedhana pramana’ T ENT P D FEI B AR W W
by ‘Shastra” while performing ‘Siravedha’ U9 w9 ‘T F 9l e =5 —
as per Sushruta Sambhita?

“A? ‘B’ ' q
(A) Mamsala (i)  Ardhayava (A) #ga wE (i) anfzg
(B) fﬂihana (i) Ardh (B) o9 wew (i) onfgg o @
nya il rdhayava or P

Pradesha yava © ® (i) 79
(C) Over Asthi  (iii) Yava EL
(1) A—{(iii), B-({).C - (i) (1) A-(ii), B-(1),C - (i)
(2) A-(i),B-(iii), C - (i) (2) A-(),B-(ii), C - (i)
(3) A~ (i), B - (ii), C - (i) (3)  A-(ii), B-(ii), C - (i)
(4 A-(ii), B-(iii),C - @ A-(ii), B-(ii), C - (i)

58. Acharya  Sushruta has not mentioned 58, 2m=Erd qgqa M MET 7 HT uE
‘Gophana bandha’ for which of the e o 781 fvar mar &7
following?

(1) Chibuka (2) Nasa (1) FEE® (2) =TT
(3) Murdha (4)  Aushtha (3) i 4) g

59.  According to Acharya Sushruta, which one 59, =marl g @ saR, SR iR sy
is wrong in context to ‘Vikeshika and @ Heg H @ — 91 vy o 22
aushadha?’

(1) There is *kleda’ if “ati snigdha’ (1) Y 9 89 w® w0 g &

(2) There is ‘chedana’ if ‘ati ruksha’ (2) =fy we7 89 9 g9 B

(3) There is ‘gharshana’ of AR
‘vranamukha’ if ‘vishama’ (i} g $ 3 ; i ;i? ;!?IT 8

(4) There is ‘vrana rohana’ if ‘vishama’ ) g

60. How many types of ‘Shalya Gati Vishesha’ 60, ‘Treg &1 nfgy gy e uor =) e6f 27
are there -

) o e
3 3 4 6 bz @
61.  “Asthipurnta, asthi nistoda, sangarsha’ these  61. aqﬁ‘vrq;ﬂim s Fedle, wad I @
symptoms are of ..o Shalya. .9 B B B
(1) Asthigata (1) aiftera
(2) Asthivivargata (2) aferfEem
(3) Sandhigata (3) wfrm
(4) Muarmagata @) whmE
62,  Which one is a colloidal solution?’ 62. 9 ¥ & o9 W e Beasd 'x'-ﬁ'(ﬂﬁﬁ
(1) Hartmann’s 87
{2) Haemaccel M
: 2) e
(3) Normal saline (0.9% NaCl) @) Srfa  daEA 09% wifsas
(4) Dextrose saline FARTSS)
(4) STEg daEd
[08]- Z Page 15 of 32



63.  Which of the following method is not used 63, el ¥°ft § ‘Tee ufeew & o s 4
in a patient for enteral nutrition? d @ — 9 e ugaa w9 e 27
(1) Gastrostomy (1) e
(2) Ryle’s tube feeding (2) 57 2™ e
(3) Jejunostomy (3) wiEREH
(4) Colostomy (4) P
64.  Which of the following method is not 64. ER YHd g7 Eoeg Uy & o9
described by Acharya Sushruta for control =1 & 1 919 — W Sum A garm T
of haemorrhage? 22
(1) Bandhana (1) =9
{2) Sandhana (2) &=
(3) Skandana (3) =T
{4} Pﬂﬂhﬂ“ﬂ {4} g
65.  According to Acharya Dalhana, first and 65, aTard Se8v & SGER YaeAd UHA B
last measure to stop haemorrhage are ford wom o sifes Sum wweE
.......... and ................... respectively. A -1
(1) Sandhana, Skandana (1) gF, W=
(2) Skandana, Pachana (2) <A, grEe
{3) Sheeta upachara, Dahana 3) e SuER, T
(4) Kashaya, Pachana @) @y, 9=
66.  Which of the following statement is not 66. ¥e Rifdear # vEmRs TwEafva &
correct in  the context of antibiotic o | = § 9 9 — w1 wum wd a8
prophylaxis in surgical practice? 7
(1) Not required in clean surgery (1) ‘"Foil7 HollY' & angvgs =87 &
(2) Repeated only during long 2) &4 @ ¥ wsw o A
operation @) ART <3 | : Y
) ! ; ‘e dewe aHa
(3) Not required at the induction of sraTTT T
anaesthesia @ s Tm el & Ifgr
(4) Patients with heart valve disease WEERes uwEdfead saEs
require antibiotic prophylaxis gl
67.  Which of the following is not an opioid 67. /% % ¥ = w ws ‘addiss
analgesic? TAleeiiS 8l 87
(1)  Morphine (1) =
(2) Diclofenac potassium (2) feaeifme aeRma
(3) Tramadol (3) wsE
(4) Codeine 4) ®rEM
68. Which of the statement is not correct in the 68. aeoraras & wey o = % § @9 |
context of ultrasound? HUT TE AE 87
(1) No radiation (1) fevys 78 2ar &
(2) Inexpensive (2) a%T BT E !
(3) Not good for cysts & foreign bodies 3 R :r?f% Iqm” e B ferd
(4) First line investigation for hepatic, ) %ﬂ difed sir $he R
biliary and renal disease o ot v oEA T %-p
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69.  Which statement is not correct in context to 69, FYLE SHITH B Fae F B — | wu
computed tomography? e T8 27
(1) High radiation dose (1) =18 e S
(2) Not a choice for the detection of 2) T 9NY B RRem & R
pulmonary masses J9gFT FE ]
(3) Excellent for liver, pancreas, renal (3) ffafm\_ﬂ, A 3w ane
and bowel pathology e 3 ﬁﬁ TS 2|
(4) Rapid acquisition of images in one @) U IR 9E I B aR oo
70. In which chapter of Sushruta Samhita 70, YT R @ e aearg § e g
principle of ‘Shat kriyakala® is describe? g aftlg 27
(1) Aampakvaishneeya adhyaya (1) THuFdgY aEary
(2) Doshadhatu malakshaya vridhhi .:Tﬁﬁﬂﬁ oI ER
vigyaneeya adhyaya g; AR gﬁ‘g it
(3)  Krityaakrityavidhi adhyaya
(4)  Vranaprashna adhyaya @ o e
71.  Development of ‘Vrana’ in ‘Shopha’ after 71. Tegor P F ATER Ww F gl
‘avadeernana’ is found in which kriyakala BIoR AU B IRy BT e Rrarere &
according to Dalhana commentary? frear &7
(1) Third 1
(2) Fourth EZ; $
(3) Fifth (3) W
(4) Sixth @) TS
72.  ‘Expulsion of dosha’ is indicated in which 72. ‘2Y§} @ TR 1 # W fbg s §
of the following stage? & o fd e wrar &7
(1) Sanchaya (1) w9y
(2)  Prakopa (2) uBm
(3) Prasara (3) W
(4) Sthana Sanshraya @) <= dEg
73. 'Mandoshmata al site of disease, tvaka 73. wr WH W ASISEL, @d Gaeier g
savarnata,  sheeta  shophata,  sthirta, o, Rerar, wgdeer ok =T ue I
mandavedana and alpa shopha’ these @l B § @ fre frery 27
features are found in which of the
following? (1) ForEe & gey
(1)  Poorvarupa of vranashopha (2) AU H 3 g
(2)  Aama avastha of vranashopha (3) FUHE A G S
(3) Pachyamana avastha of @) AUEIF N TH Haer
vranashopha
(4) Pakva avastha of vranashopha
4. o Ru=EE g wwe wwE a e | 74. i R 9 wwe us g ) P |
AT ¥ Fager 99 ] ST | SRR M [
In context to this reference which of the ¥4 ded & ey § Reg w9 B e
following option is correct? — 1 e wd &7
(1) Shvapachaha (1) ¥au=:
(2) Pranabhisaraha (2) wrofEER:
(3)  Taskara vrittayaha (3) TEHgE:
(4) Rajvaidhyaha (4) oraEr
[08]- Z Page 17 of 32



75.  "Various type of ‘varna’, e.g. — krishna, 75. A= gHR & avf W — F@r, e, wEa
aruna, shweta etc., having various type of anfe, faf=r wer @1 dqer § Yo aft
pain and various type of discharge’ which A~ veR & T | o amel gl
type of vidradhi has these features? fael a9 < == 27
(1) Piuaja (1) s
(2) Raktaja (2) v
(3) Kshataja () s

(4) Sannipataja @) afTaea

76. ‘PUGIenIEl AT WHIBE =W AT Which 76, ‘Hugdeniiwon 1) HuilEr = ary Ardaw

oplion is correct in context to nadeevrana? oo 3 el 4

{1) ‘Bhedana’ of ‘nadeevrana’ should @ P e
be done with ‘shastra’ (1) FEE BOIRT Y AT B

(2) ‘Lekhana’ of ‘nadeevrana’ should i ) :
be done with ‘shastra’ (2) ST BT | AqGT B

(3) ‘Chedana’ of ‘nadeevrana’ should (3) FEET BT Y BT B
be done with ‘shastra’ ;

(4) Cutting of ‘nadeevrana’ should be (@) TEET B AR GF | B
done with “Kshara sutra’ _

77.  What is the treatment of ‘aama granthi’ 77. ‘a8 y=i @ Rfcw @ o gyo wfm
indicated in Sushruta Samhita? H fafde fifven o= 6 827

(1) Shopha chikitsa (1) wrp el
(2) Visarpa chikitsa (2) faud fafFan
(3) Shleepada chikitsa (3) veliug fafeea
(4) Shastra karma 4) =

78.  ‘High cardiac output’ is found in which type 78. '8¢ ®Iféu®s amgeye’ frer § & fow wie

of shock? H foyemr 87
(1) Hypovolemic shock (1) wgUEegA® e
(2) Cardiogenic shock (2) wmifdarsfas oie
(3) Distributive shock () R Wi
(4) Obstructive shock @) aifegfies s

79. Which one is ‘Vikrata vrana akriti' 79. Segvw Ziwr ® AR RAea gu arsR

according to Dalhana commentary? BT O &7
(1) Ayata (1) 3mgg
(2) Chatushkona 2) a-gwﬁ-q
(3) Deergha (3) =
(4) Ardhachandra 4) o=

80.  Which are the features of ‘Shuddha vrana®  $0. qya wigd D FTER YE AT & E
according to Sushruta Samhita? H I B7 -

(1) Shyavoshtha, pidakisama, avedana (1) waErs, ey, s@eT
(2) Shyavoshtha, kledavarjita, sthira @) o, Toeafid. Rer
(3) Pidakisama, kapotavarnapratima,

ashuna 3) * - SIRE
(4) Pidakisama, tvaka savarna, samtala (4) fUeaeH, @ |99, Fa
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81. ygrEMEmT & = wiwwen gy ) 81. “auTeNgaT 3 9 Arewen faga
Which treatment method is advocated for 9 ded ¥ aftfa g & Rfven & R
vrana in context to this reference? o # Ay fiffe &2

(1) Bandhana karma (1) 999 %4
(2) Pidana (2) feA

(3) Sivana karma (3) deET 34
(4) Vidravana @) fagmE

82. ‘ﬁﬂﬂ?ﬂ?{%@ﬁﬁrﬁﬂmﬁw | 82. m&aqmﬁwm |
ga: febis waufs .. wo fof3g waafa .

Which type of sad}rd vrana {lmumatic Yo wfear & =9 ‘HE'# 1r1f ﬁv_ﬂ SR @
wound) will develop according to Sushruta HEE @ S gardt w27

Sambhita in context to this reference?

(1) Chinna (1) fo=

(2) Bhinna (2) =

(3) Viddha 3 fae

{4) Pichchita @) ffEg

83.  According to Sushruta Samhita, in which of 83, gug wifear & IFTHR T 3R 9w
the following ‘sheeta’” and ‘ushna’ kriya is &1 fFdw o & 9 s g T &2
indicated?

(1) Samyak Dagdha (1) =% 79
(2) Dur Dagdha (2) FEw

(3) Plushta Dagdha 3) == =T

(4) At Dagdha @) R ey

84.  In context to wound healing, correct match  84.  #v1 U9 (e €M) 3 Ty § e o

for column ‘A’ and column ‘B’ is - g W™ 9 & uel fFes g —
Column-*A" Column-‘B’ w3 -9
(A) Early (i)  Contracted (A) a7t (i) WFeees @R
inflammatory scar Ty
phase o
(B) Proliferative (i) Capillary (B) Wﬁﬂ Gi) SRS renel
phase buds and S ve -
fibroblasts =
(C) Matuore phase  (jii) g‘::;:d © =Rt (i) e .
blood clot mﬂﬁg «<is
Gl
() A-(@), B-(ii), C- i) (1) A=), B-ii), C - (iii)
L2) A (i), B - (i), C - (i) (2) . A-(ii), B —(iii), C— (i)
(3)  A-(i), B- (i), C-(i) (3) A-(iii), B—(ii), C - (i)
4)  A-(ii), B - (i), C-(ii) (4) A~ (i), B - (i), C - (ii)

85. Which one is not a ‘Kshudra roga’ 85, gyo wfRer @ or@R #19 @ ‘e T TE
according to Sushruta Sambhita? 14
(1) Nirudhaprakasha (1) Foysm

(2) Sannirudhaguda 2) weETe

(3) Gudabhransha E-'i: TEH

(4) Nadivrana @) =T
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86. Which disease affects ‘hanusandhi’
according to Sushruta Samhita?
(1) Panasika
(2) Pashanagardabha
(3) Erivellika
(4) Kaksha
87. In secondary hyperparathyroidism which of
the following isfare essential components
for surgical intervention?
(A) Persistently high serum level intact

PTH = 500 pg/ml
(B) Estimated volume of the largest
gland > 300 — 500 mm?

(1) Only ‘A’
(2) Only ‘B’
(3) Both ‘A’ and ‘B’
(4) Both are non — essential
88.  Which of the following comes under high

risk  patient  groups for  venous
thromboembolism?
(A) Major orthopaedic surgery or

fracture - pelvis, hip, lower limb

(B) Lower limb paralysis e.g — stroke,
paraplegia

(C) Major lower limb amputation

(1) Only A’
(2) Only ‘B" and ‘C’
(3) Only *A’ and ‘B’
(4) Al of the above
89. Which of the following statements isfare
correct about varicose veins?
(A) Varicose veins are one of the most

COTNMOon conditions causing
impairment in quality of life.

(B) CT - guided endovenous ablation

has minimal procedural morbidity

and is highly cost effective.

(1) Only ‘A’ is correct
(2) Only ‘B’ is correct
(3) Both *A” and ‘B’ are correct
(4) Both are incorrect

86. BTN W B Al iy gag wedr @
FTAR B A 87
(1) y=fdm
(2) GEERTEq
(3) sRafees
(4) e
87. Woed TRWNYENERE #§ afiiew
sewE ol s me  (amamne)
HEME (G2h) DA—H1/F & /87
(A) WRiEe =6 9RA oaa 3w
geae © A wa > 500 faum
e
(B) wwiwe TelE & UwHee diegd >
300 - 500 AL

(1) &g ‘A’
(2) @ge ‘B’
(3) °‘A’si ‘B’ g
(4) TEFAE — e ¥
88. =1 % @ fra/fm 9= g ¥ T W
AT T @ waw I vEar 87

(A)  FoR Imfufes Ooid a1 Baaw —
ufeaw, féu, dRr fore

(B) oer fora tufefw o9 -
W, ereforar

(C) o wer form grateH

(1) @ae A

(2) @ad ‘B’ @R C
(3) g ‘A’ 3R ‘B’
4) Wit
89, ‘e I~ B Heg H§ d—a/d T
wel 5 /87
(A) oo T wmEa B9 arel
wele & foras oiad & e
H B T 2
el — Mgss ‘TedFYg vl
A uioe AifafEdT fieme ol
2 3R 7% sE SR Tofdeg 2
(1) g A’ 98 &
(2) H9d ‘B’ HEl 2
(3) °‘A’3N ‘B’ e WEr &
(4) =FT & wE T E

(B)
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2. A 22 year old male involved in a 9. UF 22 Fly TP HexAEve g @
motorcycle accident, presents with a qE e ‘ﬁﬂ; H W B wer 2 Gﬁg
fractured femur and following fixation is o BRI F 9% aF fewifgee
noted to have become disoriented with W € AR e &l § efhae S
several areas of petechial haemorrhage. forerchy 1
He has suffered from which of the 98 19 ¥ 9 fray difsg &7
following condition? (1) uye Q'la‘rﬁmﬁ:[

(1) Airembolism (2) e TR

(2) Fatembolism e R’Eﬂ. R

(3) Mycotic embolism g; i hlﬁﬁ
{4) Acute aortic thrombosis k!

91. Which of the following is not a cause of 91. 3= & % B TF FEE B FR

Gangrene? 8l &7
(1) Berger’'s disease (1) e fEsi
(2) Intra-arterial drug injection
(3) Frostbite g; T SR T Foraer
(4) Varicose veins @ Eiﬁ \ 1§ ?'-qu

92. ‘Medial epicondylitis’ is synonym of which 92. =1 # & fewsr wam Wit

of the following discase? siereEase 87
(1) Golfer's elbow (1) e geal
(2) Tennis elbow 2) 2Fg v
(3) Frozen shoulder (3) W st
(4) Perthes disease (@) qeﬁr;[ Fraiar

93.  While operating a HIV patient, whichof the 93. Ud. g, &1 I &1 wow o4 o33 999
following is/are recommended? F=1 % 9§ ! g fmn T 87

(A) Use of full face mask @) T 1 ¥ AR W P a
se of full face TP i
(B) Avoid operating HIV patient (B) %ﬂq_gl‘lﬁ 4. Wft &1 e et v
(C) Use double gloves at operation (C) o9 &% & 979 =iy ol o
TG Y
(1) (A)and(B) (2) (B)and(C)
(1) (AR (B) (2) (B)3R (C)

94. For the preparation of Kusha (Splint) 94, amemd gﬁ E I g9 B o
Acharya Sushruta has advocated which of = F | fvaer fawar Ty 22
the following? (A) #Y SgHER, gae

(A) Madhu, Udumbara, Ashwatha (B) UwmE, e, d9r

(B) Palasha, Kakubha, Vansha (C) o ?T?[J‘ﬂx_rf

(C)  Arka, Snuhi, Sarja a3 ' (A}' - ®)
(1) Only (A) (2)  Only (B) 3 . 4

3 (Aand(B) @ (B)and (C) O W@ @ BRO

95.  Which of the following is a disadvantage of 95, ‘TR Us RefRT o7 fweaiew fre

casting and splinting? H 9 BF—ur 27
(1) Nointerference with fracture site (1) gﬁm WIFE BT FeXGeH TE T
(2) Poor mechanical stability
(3) No wound (2) "oFhea wRfad 43R BRR &
(4) Noimplants to remove (3) g '_"ﬂ g &
4) w=aie R =8 ST gear &
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96. WAURI g WA @vi | w96,
YR
Which option is correct in context to this
reference of Sushruta?
(1)  Sarpi — Madhu
(2) Sarpi - Nisha
(3) Madhu — Nisha
(4) Madhu — Kshira

97. Infection of bones is known as.........c.......... 97.
(1) Osteocarthritis
(2) Osteoarthrosis
(3) Osteomyelitis
(4) Osteophytes
98. According to Glasgow Coma Scale (GCS) 98.
which of the following option indicates
moderate head injury?
(1) GCS 15 with no loss of
CONSClousness
(2) GCS 14 or 15 with loss of
CONSCIOUSNEess
(3) GCS59-13
4) GCS3-8

99. lefferson’s fracture is found in which of the 99.
following?
(1) Cl
(2) C5
3 T
4) LI

100. According to Sushruta Samhita, causes and 100,

number of stana roga are similar to which of
the following?

(1) Gulma

(2) Vidradhi

(3) Gati (Nadi)

(4) Granthi

101.  Which of the following is not a clinical ~101.

indicator of potential bleeding in Torso
Trauma’?

(1) Increasing respiratory rate

(2) Decreasing pulse rate

(3) Falling blood pressure

(4) Rising serum lactate

e g9 vl & e § 9l Ree

Pi—ar &7

(1) Aft—my

(2) <fti-fEm

(3) =—frem

(4) wg—&R

(1) siResiemieles

(2) siifResiemaR

(3) oiiResimzensfes

(4) 3ifResiwEea

TAET B whd (S W TH) $ ER

=1 ¥ ¥ ®F-ar [Aocy deve g o

BT 3 e 27

(1) ot ¥ T 15 © 9y s A T
HEll

(2) <t & v 14 T 15 F 9y En
A1 BT

(3 i+ vE 9-13

(4) i 9 T 3-8

S waEe e § O e Bear 27
(1) #Hr1

(2) #s

(3) @l

4 Tl

qYd e & TuR W & SR &R
Heg e # @ foe ww e g &

(1) TeH

(2) fa=fa

(3 T (\E)

4 ufa

TRET g # oeRma =fifer 29 @t
?ﬁﬁsﬁﬁ?ﬁwﬁ%ﬁﬁ—waﬁ
(1) zaa= o g8+

(2) = ufy H5 2

(3) el S B

(4) ¥rm oo gl EEr
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102.

103.

104,

105.

106.

In case of oesophageal perforation, which of 102,
the following will be treated non -
surgically?
(1) Perforation confined 1o
mediastinum
(2) Pleura breached
(3) Boerhaave's syndrome
(4) Perforation of abdominal
oesophagus
What is another name of ‘Paracsophageal  103.
hiatus hernia’?
(1) Rolling hernia
(2) Sliding hernia
(3) Spigelian hernia
(4) Richter’s hernia
“There is suppuration (Paka) in vidradhi but 104,
no suppuration in gulma’. Which one is
correct in this context?
(A) ‘Gulma’ has ‘Nibandha’
(B) *Vidradhi has no ‘Nibandha’
(C) Vidradhi is due to mamsa and
shonita
(1) Only statement (A) is correct
(2)  Only statement (B) is correct
(3) Only statement (C) is correct
(4) All the statements are wrong
‘BRI IR W ol aswer: | 105.
FAEIAT] G- 9 ... JIA BT | |
This reference of Sushruta is related to
which of the following?
(1) Ashthila
(2) Gulma
{3) Makkala
(4) Vatodara
Which is incorrect in the context of “nerves 106,

responsible for abdominal pain™?

(1)  Parictal peritoneum is supplied by
autonomic nerves

(2) Abdominal wall is supplied by
somatic nerves

(3) Abdominal organs are supplied by
autonomic nerves

(4) Visceral peritoneum is supplied by
autonomic nerves

SHBAE WoReT @ Rufy § fer

W e A-ufifew Seie w1 afma

&1 R 827

(1) #Aifearez 9o S weresE

(2) R g @i & 7 8

(3) 9vEE fhvgm

@) v=ifFe 9T # weneH
i

ﬂ?@?ﬁﬁmmmﬁwﬁm

1 27

(1) Afer sffar

(2) vomsfEr sffar

(3) femfergs ffar

4) Raew i

T H Ui TE Bl ik REf 3 g

gﬁm%rsﬂmﬁaﬂw—mwm

7

(A) e F1 g gmar &

(B) famfer =1 fEg =8 aar 2

(C) ﬁ%ﬁ:ﬂmﬁ?t’fﬁm?ﬁw
el &

(1) Fad $u7 (A) G &

(2) das FUF (B) 981 &

(3) Faa FAA (C) WA &

4) it FU= Tog &
BEARTR ufYy: w= aft arsae |

TAEGE F F . S B

e g8 = e 4 Qe

e &7

(1) e

(2) T

(3) Hawd

(4) drmree

TR T W wRthg adg @ we

# | T 87

(1) Wed WeEfmm o dreEihes
T4 g gl &

(2) vsifFe dia @ Oafrs 94
TelE Bl B

(3) ve=iftEe st @1 dieis =4
g Bl 2

(4) ERa Nt o aesEs 59
e BT

[08]- 2

Page 23 of 32



107.  Which statements is/are correct?

(A) Small bowel colic comes in waves
and disappears completely when
peristalsis ceases.

Pain of ureteric colic is intense
lasting one to two minutes.

Only (A)

Only (B)

Both (A) and (B) are correct

Both (A) and (B) are incorrect

(B)

(1)
(2)
(3)
(4)

108. In which of the following enlargement is
found in ‘“Vama Parshva’?

(1) Plihodara

(2) Yakridadalyudara

(3) Baddhagudodara

(4) Parisravyudara

Which option is correct match of column

‘A’ with column ‘B'?
Column -*A°

(A) Parisravy (i)

109.

Column - ‘B’
Due to Purisha

udara sanchya  guda

nirodha occurs

(B) Baddhag (ii) There is
udodara Kshobhana,

Kampana  and

shabda like driti

filled with water

(C) Dakodara (iii) occurs due to

presence of
shalya in food

(1)  (A)-(1), (B)-(ii), (C)-(iii)
(2)  (A)-(i), (B)-(iii), (C)-(i)
(3)  (A)-(iii), (B)-(ii), (C)-(i)
(4)  (A)-(ui), (B)-(i), (O)-(i1)

110. Which of the following condition is
associated with asciles having
protein > 25 gm/L?

(1) Nephrotic syndrome

(2) CCF - Congestive Cardiac Failure
(3) Cirrhosis

(4) Pancreatic ascites

107. BE-H/H doa Fe) 2 /87
(A) ‘wifa 99d Fifes’ Joq & w9 i
T & AN Wreeite 599 W
qola: 75 &1 W & |
(B) TER® Fifesd &1 U9 98 o=
BIaT & 3N 1-2 e 9@ wear 21
(1) +aa (A)
(2) @ae (B)
(3) (AR (B) =Ml wEl &
4) (AR (B)THE Toa &
108. =1 5 % frad am ured # gfer e 22

(1) wiEE

(2) TFEYER

(3) FFEN

(4) uRumegeR

109, W7 ‘& Ud W™ ¥ @ "ol fHeme

- fawey &7

w3 -’

(A) uR"EERgER () ¥ F99 '
L A 0
ﬁﬁaa&m%gﬁ

(B) ¥EISET (i) T W 99§
g & wA
arqd, @
R e B
B

(C) =P (iii) A H
Suiter  wed
F SR BT
g

(1)  (A)(1), (B)-(ii), (C)-(iii)

(2) (A)-(11), (B)-(ii1), (C)-(i)

(3)  (A)-(iir), (B)-(ii), (C)-(1)

(4)  (A)-(inn), (B)-(1), (C)-(ii)
1mo. /= # @ “foar vasfRas #
U =25 41 /. Brar 87

Swifes Rrgm

1. 9l U6, — suifica ¢ wiemw
IEiEUESE]

Hfpefes vafew

(1)
(2)
(3)
(4)
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1. Which of the following statements isfare 111. =1 % 9§ SF—a1/9 599 w8 E/87
correct?
(A) Peptic Ulceration is common in (A) uftes aemve gaifem & oed
first part of duodenum. g & SUEER g6 2
(B) Peptic ulcer is common on greater (B) Ufte® soaw wHe & Tev s
curvature of stomach. W WIEER ST 2
(1) Only statement {(A) is correct (1) @ad FuUT (A) T8 &
(2) Only statement (B) is correct (2) ®ad Fu9 (B) 98! &
(3) Both statements are correct (3) == T2 wE &
(4) Both statements are incorrect @) =F T Tog #
112. Which option is incorrect regarding 112. ‘ReRe—II' weu &% & T § @ig—ar
‘Billroth II' operation? ooy |y =5t &7
(1)  2/3" of stomach is removed (1) &% & 2397 Dawm &
(2) Ducdenal stump is closed Q) ‘SARETE & BT Y oy
(3) Stomach is anastomosed to the 3) wwhE B ﬁﬁﬂﬁ F sy £
L ikt @) THF I Do F wey 2
(4) Stomach is anastomosed to colon
113. Which of the following statements about 113. ¥ifd =R @E=) & g § fe §
small intesline are correct? W B HU a8l B
(A) Comprises jejunum and ileum (A) 3R gfor™ gaa wpT 8
(B) Has valvulae conniventes (B) mﬁf‘ﬁ FdeE B
(C) Blood supply from superior (©) iR Amifes
mesenteric artery 3 ]él‘; :‘Er ERi @
(1) (A)R (B) wEl €
(1) (A)and (B) are correct ) ®) 3R (C) e &
(2) (B)and (C) are correct @) (O) 3k (A)wa &
(3) (C) and (A) are correct @) T aE
(4) All are correct
114. Which of following is most common 114. = # & FF-—W sfesy =& waifts
position of appendix? e arel feufa sl &2
(1) Retrocaecal (1 Rerdea
(2) Pelvic (2) ufeas
(3) Paracecal (3) wRfEa
(4) Pre-ileal (4) ﬁ_m
115.  According to Sushruta Samhita, which of 115. ggu wWRar & @R o ffean @
the following statement/s is/are correct in T H 98 BT & /87
context to Arsha Chikitsa? .
(A) Treat arsha situated in bahya guda (@7) @ = a% 4 Rew onf A
vali Terfdrear @
(B) Do not treat arsha situated in @) =1 7= afd § Rem o, &
madhya guda vali frfeear i w3
(C) Treat antarvali situated arsha afier (@) sradfe ¥ Rem ael & yearey
telling these as difficult to treat Hedy e &y
(1)  Only statement (A) is correct (1) wae FoF (&) o8 &
{2) Only statement (B) is correct (2) wae HuUH (@) @E1 &
(3) Only statement (C) is correct (3) Had suF (1) 98 &
(4) Statement (A) and (C) are correct 4) ¥ (37) iR (W) wed &
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116.  Which will be correct : match column A 116. Hideg W=y fafscar & ot § @
with column B in context to Bhagandara A UG W T FEE e g
chikitsa as per Sushruta?

Column - ‘A’ Column - ‘B’ W - wH -
(A) Shataponaka (i) use kshara afier (A)  IUS i) T=ad &
shastra karma g1 8N OI
(B) Ushtragreeva (ii)  make vrana like &3
kharjoorpatraka ﬂ i
(C) Parisravee (iii) mukI:EI: Er)aana in (B) (1) m
between naadee REL El
M) (AXGii), (B)-Gib, (C)-6i) o i e R s
A)Giii), (B)-(i), (C)-(i =, 8 0m
(2)  (A)-Gii), (B)-(i), (C)-(ii) T
(3 (A)-(i), (B)-(ii), (C)-(iii) (1) (A)-Gii), (B)-(ii), (C)-(1)
, (2)  (A)-(iii), (B)-(i), (C)-(ii)
(4)  (A)-(ii), (B)-(iii), (C)-(1) (3 (A)-(), (B)-(ii), (C)-(iii)
(4)  (A)-(i1), (B)-(iii), (C)-(i)
117.  Full thickness rectal prolapse can be treated 117. =1 % & fry AR ¥ war g Yo
with which of the following procedure? U’ @) fafear @ ongr 27
(1) Delorme’s procedure (1) Serg udor
(2) Altemeier’s procedure (2) arccied griow
(3) Both(1)and (2) (3) (1) aiw (2) =T
(4) Lord’s procedure @) <iea bR

118. In Sushruta Samhita vse of ‘Pipeclika’ 118. Hyga wiRar & aqar, il @ ey
(black ants) for seevana is advocated in & ford warT fvad samr 22
which of the following?

(1) Karna sandhana (1) wof T
(2) Nasa sandhana (2) =rEn wEE
(3) Tvak sandhana (3) ©@® wH=E
(4%12{;%:% sandhan @) = arg wue

119. I TAUH=HIET. | 119. =Y HredT: |
gue 4§ s o L "5 ggEe: ¥ M-S we . "
Which option is correct with reference to 59 92 & ey J PH-E fAden |l
the above context? 27

(I) Patient dies (1) If Hi g B Wi §

(2) Patient remain alive (2) =rf <hfeg wear &

(3) Development of faecal fistula (3 g8 T gor g 2

(4) Development of faecal and urinary @) 99 3R 7= G gor a 2
fistula -

120. Which of the following are features of 120. Hia W@l & FwR =1 § ¥ ‘ugq
“Yakrita Vidradhi’ as per Sushruta Samhita? foefr & @& sF-g &2

(1) Teerva Kati — prishthagraha (1 0w B - yous

(2) Hikka, Aatopa (2) feawr, amem

{3} Sh‘r’HSﬂ, Trishna (3) EGIE: qg;r"

(4) Parshva Sankocha, Shvasa avarodha (@) ured HerE, N AEy

[08]- =
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121. Which of the following is associated with 121. = % ¥ frgar w7 O BISUeE
‘portal hypertension’? g 87
(1) Liver cirrhosis (1) <haw REfEs
(2)  Cystic duct obstruction (2) fufies swe segam
(3) Common bile duct obstruction (3) BT 91T =9 SieEEE
(4)  Sphincter of Oddi obstruction (4) REgex 3w il Siterga
122.  Presence of stones in gall bladder is called - 122. Ty &t ol % oot & o7 . @y
(1) Cholecystitis gl
; (1) erifeRfa
{2) Cholesterosis @) :
(3) Cholelithiasis 3) aﬁm
(4) Choledocholithiasis 4) @esiERmi
123. A palpable, non — tender gall bladder is 123. U® fi & ‘TS T 9 |
found in a patient on abdominal IS Tie =ieY UavEd fear ¥ 39
examination. This sign is called - HEA B ... BEA B
(1) Rovsing’s sign (1) afdTg g
(2) Courvoisier's sign (2) @ﬁﬂﬁ’im =
(3) Murphy's sign (3) =whg asT
(4) Cullen’s sign (4) Fery T
124. ERCP is indicated in the diagnosis of 124. 2 ayw &% o1 @ I @ e
disease of - we & ford fAfde 2
(1) Stomach (1) wms
(2) Rectum (2) vaeH
(3) Pancreas (3) Hiams
(4) Spleen (4) iH
125. Which of the following is/are correct in 125, wWeliFaert & W= § B=r & ¥ 99
context to splenectomy? 2/E?
(A) Prophylactic antibiotics are contra- (A) ugeifes =ErRew fafte
indicated. 7
(B) There is danger of opportunistic (B) W & arc aefifes
infection after splenectomy. S BT TR LEaT 2|
(1) Only (A) is correct (1) @aa (A) T &
(2) Only (B) is correct (2) gl (B) 9t &
(3) Both (A) and (B) are correct (3) (A)3i¥ (B) T wer &
+{4) Both (A) and (B) are incorrect (4) * (A) 3R (B) &1 g &
126.  Which of the following organism is not 126, ¥gaise emel’ B Gaw = #§ O fbg
associated with ‘struvite calculi’? e & 985 &7
(1) Proteus (1) wifess
(2) Pseudomonas (2) wgeWEAE
(3) Staphylococcus (3) wWwisaweT
(4) E.Coli @ £ aer
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127.  Correct match : column ‘A’ with column 127. W™ ‘& & @™ T ¥ @& B
‘B is - BN —
Column -*A” Column -*B’ a7 g
(A) Shleshmash (i) Kadambapus (A) YorsTeAe (i) PHeEywE
mari hpavat (B) fig arswd (i) wIHeTS
(B) Pittaashmari (ii) Kukutanda TEETIT
Pratikasha ey
(C) Vataashmari (iii) Bhallataka (o (1) Hﬁ; g
i o D (A)-(i), (B)-(i), (O)-(iii)
-(11), -(1), (C)-(m
(1) (A)-GD), B)-), (O-(ii) 52; (A)-G), (B)-(ii). (C)-iii)
@ (A)-0). (B)-GD), (C)-(ii) (3)  (A)Gi). (B)-(ii), (O)-i)
(3)  (A)i), (B)-(Gii), (C)-(ii) @) (A)-(ii), (B)-(ii), (C)-(i)
@) (A)-(i1), (B)-(iii), (C)-(i)
128. Due to the injury of .......... at the time of 128. ¥ &% & ®AY T B ¥ TY AR
Shastra Karma leading to “death and filling afta &1 73 | gof g faear 2
of Vasti with Unine”™,
(1) Moothravaha Srotas (1) HFa8 Hiow
(2) Shukravaha Srotas (2) YepaE Wad
(3) Mushka Srotas (3) =5 wHod
(4) Mutra Praseka @) 7= TEE
129.  ‘Shastra Karma' mentioned in Sushruta 129, gs[@ @fear F swad) & o affa oy
Sambhita for ‘ashmari’ is similar to which of &4 o =1 F 3 fhaR e 26
the following?
(1)  Suprapubic cystolithotomy (1) guwrgfas et
(2) Perineal cystolithotomy (2) whifoe faeeifaieis
(3) Lumbar nephrolithotomy (3) = Twifeer
(4) Urethrolithotomy (4) Fhufe=ieErn
130. Meaning of ‘Mootraghata’ according to 130. So&v dl@1 & SR, AR H ot
Dalhana commentary is - £l
(1) Mootra kshaya (1) 43 &g
(2) Mootravaha srotas abhighata (2) ¥=a8 Hiow sfogg
(3) Mootravarodha (3) ‘ﬁm
(4) Mootra dushti (4)
131. o gwis AR | 131. TR ATYRIHTB: |
s TG AT BTG | I e TG AT {r
This reference of Sushruta Samhita is g;lﬁ e &1 g8 ww<d W
. : - Ly ] .
ra.-‘i I::.ted ;oa:::;cs}; of the following’ W -
(2) Mootratita (2) AW
(3) Vatashtheela (3) ararTen
(4) Mootrajathara (4) ¥FwoR -
132.  Which of the following drug does’t induce 132, 7 # & S §7 Tage Ré=m ofw
‘acute retention of urine’? BRI I TG I -1
(1)  Antihistamines (1) vifewdrs
(2) Anticholinergics (2) TRy
(3) Tricyclic antidepressants (3) gEasfEs ey
(4) Alfuzosin @) sEmsiRE
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133,

134.

135.

136.

137.

Which of the following statement is/are 133.

true?

(A) Most carcinomas in prostate gland

arise from Peripheral Zone (PZ)

Central zone lies anterior to urethra

(B)

(C) BPH arises from Transitional Zone

(TZ)

(1) Only (A) is correct

(2) Only (C) is correct

{3) (B)and (C) are correct

(4) (A) and (C) are correct
Which of the following is not an essential
investigation for lower urinary tract
symptoms?

(1)  Urine culture for infection

(2) Serum creatinine

(3)  Urinary flow rate and residual urine

volume measurement
(4) Pressure — flow studies

"TgA ST A1 Fveger e |
o EfEiE 1

This reference of Sushruta Samhita is
related to which of the following?

(1) Mutrasravi Vrana

(2) Mutrasravi bhagandara

(3) Sharkara

{(4) Mutrakricha

HOREI B TS o e,

This reference of Sushruta is related to
which of the following?

(1) Parivartika

(2) Avapatika

(3 Nirmddha prakasha

(4) Shukra ashmari

Which of the following is/are feature/s of
niruddha prakasha?

(1} Shishna Charma {penile skin)
covers mani (glans) and mootrasrota
(urethral opening) is obstructed.

(2) Shishna Charma avapatana (tearing)
is there

(3) Shishna Charma goes behind the
mani

(4) Pain occurs at urination and there is
Shishna Charma Vidarana (tear)

134,

135,

136.

137.

Fret i @ S—a1,/9 U T 2 /87

(A) sfEw uRee wis @R
?ﬁﬂﬁﬁ?{{ﬁé@}ﬁmﬂsﬁ
|

(B) %ﬁﬁaﬁﬂqﬁwfﬁqﬁﬁmsﬁw
|

(C) . W va = Sdhkt gifseEa
W (& ore) W gl £

(1) @aer (A) T8 2

(2) @aa (C)wdl &

3) (B3R ()T E

@ (AR ©@H E

R g gae ey & fog e &
# BT A TR T8 27

(1) TE TR — ThEE & ol

(2) 9rH eerE

() T Tl YT AR ey g8
diegH Haie

4) ﬁm Tl T
WSWWQWWHWI

g Pr=mffarcs

gydaa I8 a=d Fr‘rmi ii ¥ fred
Tl 87

(1) ¥AEET 997

(2) THEE A=Y

(3) s

4) I
FVINERT BIEE TR . :
gsa‘cﬂaﬁ zﬁ-; = = 7 9 fFuw

(1) trﬁtrﬁaa—r

(2) amEuifesT

(3) Feg g

(4) IF T

Ff 4 4 Feg uesw s1/8 @8v

BT/ & /E?

(1) R =6 3 91 39 =1 & e
G HaEg & ST §

2) frem = &1 sues § ey @

(3) B o =t & 9o @l W &

4) T3 @ S E 9IE 95T Bl B
3R e = w1 fagwwr & W 2
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138. Which of the following is incorrect 138. qw,q’gw e S s R N s
regarding testis/testes?

(1) Testes that are absent from scrotum (1) &1 397 &H & i AE arq 0
after 3 months of age are unlikely to wed # Tl a un € S
dacanl ?ﬁ’mq i o B e T S

(2) Histological changes in the !
undescended testes can be seen (2) q_‘ﬁ Al E'%

T ggﬁ%iﬁ BN m
from 1 year of age T _gr &
d 1515 at g T
(3) &nmzifgg:f;esm 15 at greater risk 3 aﬁﬁ%‘#@@“ _ﬁﬁmgﬁ i T e
g ; ETINT =TT |
5 d = .
(4) hUic:ibc:Zr [::;; testis is at low risk of @) afdes 2Rew ¥ =fhm B &
g TG FH Bl 2|

139. Which of the following condition will 139, /=1 & @« fewd g veaenEe
require prompt exploration, untwisting and Fefafen iR el = sawEe
fixation? g7
(1) Ectopic testis (1) velfte ¢feg

(2) Undescended testis (2) IFfeg<s 2Rew

(3) Testicular torsion (3) m ey

(4) Testicular Malignancy (4) %‘ﬁﬁﬁ? AT

140. ‘Phalakosha Vriddhi’ is seen in which of the 140. ‘“Te B gfay =1 ¥ 3 fedt frard 27
following?

(1) Vriddhi roga {;i qﬁ&qu

(2) Mudha garbha ( ’ﬁf

(3) Vatodara ) )

(4) Vrishana abhighata @) g ST

141.  Which disease is incurable according o 141, g wRdr @& gER, @H—d =iy
Sushruta Samhita? g 87
(1) Parisravi Bhagandara (1) T-[ﬁElTrﬁ LR B
(2) Achira kala jata arsha (2) R e 9| a9
(3) Riju Bhagandara 3 e
(4)  Antra Vriddhi (Phalkosha prapta) E‘i{ ﬁ afE (were wre)

142. In context fo Shasra Karma in ‘Mootra 142, J%d ®feal & arwr, ‘g3 qﬁg' R H
Vriddhi’ which statement/s is/are correct IREGY B TE § Wl HYd & /87
according to Sushruta Samhita? (A) [ & ford e &1 wwm v

(A) Vrihimukha is used for vedhana. gl

(B) Nadi with one opening is used. (B) TS HE S & 94T B T

(C) Sthagika bandha is used after (C) ?ﬂfﬂ o @ 9g WS T H
Shastra Karma. YO H T |

(1)  Only (A) is correct (1) @gd (A) T8 &

(2)  Only (B) is correct (2) ®ad (B) T &

(3) Only (C)is correct (3) @F9d (C)FE &

(4) (A)and (C) are correct @ (A)3R () wd

143. Hemnial contents are gangrenous in which of 143, 51 % o frud gffwe o== =
the following? Bl &7

(1) Occult hernia (1) sifwpee sHaT

(2) Reducible hernia (2) Regfuee sffa

(3) TIrreducible hernia (3) INegftaa effar

(4) Infarcted hernia @) THreeE =fhr
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144, Which of the following is a rare type of 144. %7 % ¥ Fri—ar ud IR Cefar 87
Hernia?
(1) Inguinal hernia (1) sEaa sHan
(2) Femoral hernia (2) wHERe =g
(3) Lumbar hernia (3) o efHar
(4) Umbilical hernia (4 afaes =ffar
145. Which of the following procedure is 145. afaferra effar Riax & B B & ks
indicated in umbilical hernia repair? -9 afy Affe #2
(1) Bassini’s repair (1) R Ruge
(2)  Shouldice repair (2) I ROmR
(3)  Lichtenstein repair (3) R i
(4) Mayo’s repair @) = R
146. According to Sushruta Samhita, while 146. Y0 diedr & dur, Rvafa amr o
reconstructing cut nose what is used for THE B & ol T/ &1 uEnr e
measurement of nose to be reconstructed? g § fuiRa e o1 il &
(1)  Prithiviruha Patra (1) ?@ﬁ?@ﬁ
(2) Mriga Charma @) TT =
(3}  Mahisha Charma (3) =Ry =t
(4) Ajabasta ) I T
147. Which one is not indicated during 147. WyT WRar @ AR, IS W B Rl
reconstruction of lip as per Sushruta fAfde = 27
Samhita?
(1) Cutting of Ganda Parshva Mamsa (1) 7€ 919d & 919 &7 Ihaq
(2) Lekhana at site of reconstruction (2) FuE WE W) e
(3) Use of Nadi (3) =& 51 wanT
(4) Irrigation with tila taila after 4) <99 & 92 fAe 99 9 R
seevana
148. IFTAK Technique (BHU Technique) used 148. *Trax Rifpem & @ ydr 29 ared
for treatment of bhagandara is introduced IFTAK Technique (BHU Technique) fF&s
by which of the following? BT waforg &7 et £2
(1) Professor P. D. Gupta
(2) Professor M. Sahu (L wpwe 9. & T
(3) Professor H. K. Kushwah (2) HIHW g, g,
(4) Professor S. 5. Sharma (3) WP TH. B Ll
(4) W wH. v T
149. Modern scopic instruments can be 149. Gxa wRAT ¥ ol =t ¥ G eud
compared fundamentally with which type of qe T S IUBY B W BT G
Yantra described in Sushruta Samhita? &
(1) Svastika Yantra (1) wRas g5
(2) Shalaka Yantra (2) I=TF T
(3) Nadi Yantra (3) :ﬂﬁ T
(4) Upa Yantra 4) TY g=
150.  Which type of galganda is not considered in 150, TeFIVE &7 HF—6 THR HHa wfea &
Sushruta Samhita? ITHR el BT 87
(1) Vataja (2) Pittaja (1) e 2) fraa
(3) Kaphaja (4) Medoja (3) FHw 4) #HEIS
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